L6EEQLrS hg‘ev# ﬁﬁrg DCN NO. DESG?IPTI?N ﬂDR ?%HKé APPﬁg. %PP%.
3
( "ON ONIMVHQ)SBER $4-40 47 2 110.Nov.2005| 058570| CHANGE TO BILINGUAL Y.TAKAGI ﬁ‘é@of’zm
7 ¢
\ 18
+£0. 4
3.75
(NOTE2)
R Q0)¢
1
' %7
@ Al
m N E
o o Ta
-H'_- (\.] L _ —| o
w N —,!Z RN % n
NP _'g
NOTE1 //
+1
19
171 |FLAT WASHER 2 |sTEEL NICKEL PLATING M3
170 |PEUS=CUM—MINUS
PAN HEAD SCREW 2 |STEEL NICKEL PLATING M3 X12
g
NOTE 1.COMPANY LOGO AND PART NUMBER ARE MARKED AT THE LOCATION SCREW LOCK | 2 |STEEL NICKEL PLATING
SHOWN IN THE DRAWING. 8 FLAT WASHER 2 STEEL NICKEL PLATING M2.6
HOWEVER, "-F5—-1R" 18 NOT MARKED. 7/ |CLAMP SADDLE 1 |STEEL NICKEL PLATING
2.THIS DIMENSION SHOWS THE PROTRUDED AMOUNT OF SCREW. 6 | INSERT 2 |COPPER ALLOY NICKEL PLATING
5 |SPRING WASHER 2 STEEL NICKEL PLATING M3
1 .EROMBICHBERY KL ERTT 5. 4 |PLUS=CUM-MINUS
EE ¢ X
FRU S T—FG5~1R | X555 X A% s, PAN HEAD SCREW | 2 |STEEL NICKEL PLATIN M3 X6
. - o 3 HOOD B 1 ABS RESIN NICKEL PLATING HARSH PROCESS
2. 20 FTEHEEXRIOEEIEEET., >
HOOD A 1 ABS RESIN NICKEL PLATING HARSH PROCESS
1 |HEXAGON NUT 2 |STEEL NICKEL PLATING M 3
3 i |E K #
NO. DESCRIPTION OTY. MATERIAL
~ 7= (SPECIFICATION) %Tﬁ(omemm_ DATE)
g 13.Ju1.2005
; T
P DR. Z#(TITLE) ON
~ AE(GENERAL LERANC
x —&%( RAL TOLERANCE) %ﬁl(. Y. TAKAGI ELECTRONICS :f:
- <35 (DIMENSION) | i (ANGLES) =B DD-C8—J13-F5—1R JVAE INDUSTRY, LTD. —
._!, 0.5 x° iD/ APPD. I e
1 X £0.5 |xox-x ﬁpo. Y.KUBOTA ME#&5 (DRAWING NO.)  [MRE
) XX HE(MASS)
a s @ $J103391 2

IlII|HTI|||II|I||IIIIH|l|lI|IIII|IIIIIIIlI|l|II| [ I | | | | ] | | |
a 10 20 30 40 50 60 70 8o

!

JAE CONNECTOR DIV. PROPRIETARY.
COPYRIGHT (C) 2005, JAPAN AVIATION ELECTRONICS INDUSTRY,

LTD.




